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This is a ball.



XNBRAEA N,
This ball is on the left.
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EH G,
Now it's on the move.




ME, EXEAIL,
Now it's on the right.




XE2H1, 2, 3, 4, 5, 61k,
1,2,3,4,5, 6 balls.
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These balls are on the move.




/.I
d ./'M

EHTJ», Emz_{-t:to

Sometimes, there is more on the left.
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And sometimes, there is more on the right.




ERDEIBERT, ENER—L,

Rarely, they are on the same side.
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BRI ENEREEX N, ATAR?
We usually find them like this. Why?
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Color our 6 balls.




FRENEKREREZLL, RAB 17T,

There is only 1 way all the balls are on the left.
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BIPMRELE, =B 6 MEHE,

There are 6 ways for 1 ball to be on the right.



B2 TERERL, 27 15 M HE,

There are 15 ways for 2 balls to be on the right.
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PIAE 3T, =H 20 MagE,

There are 20 ways for 3 balls on each side.
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